
이름: 　　　　　　　 날짜: 　　　　　　 점수: 　　　

10의음의지수

7 × 10 =(−4) 433.7 × 10 =(−2)

3 × 10 =(−4) 670.3 ÷ 10 =(−4)

2 × 10 =(−4) 10 =(−3)

553.5 × 10 =(−3) 10 =(−2)

8 × 10 = 486.6 ÷ 10 =(−2)

10 =(−3) 10 =(−1)

1 × 10 =(−1) 741.5 × 10 =(−3)

10 =(−2) 252.8 × 10 =(−1)

−2 × 10 = −1 × 10 =(−4)

−3 × 10 = 730 ÷ 10 =(−2)
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이름: 　　　　　　　 날짜: 　　　　　　 점수: 　　　

10의음의지수

7 × 10 = 0.0007(−4) 433.7 × 10 = 4.337(−2)

3 × 10 = 0.0003(−4) 670.3 ÷ 10 = 6703000(−4)

2 × 10 = 0.0002(−4) 10 = 0.001(−3)

553.5 × 10 = 0.5535(−3) 10 = 0.01(−2)

8 × 10 = 80 486.6 ÷ 10 = 48660(−2)

10 = 0.001(−3) 10 = 0.1(−1)

1 × 10 = 0.1(−1) 741.5 × 10 = 0.7415(−3)

10 = 0.01(−2) 252.8 × 10 = 25.28(−1)

−2 × 10 = −20 −1 × 10 = −0.0001(−4)

−3 × 10 = −30 730 ÷ 10 = 73000(−2)
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